1100586552

Ref. Rep Designation

760136 1 HEADLIGHT ASSY

750248 2 WHITE BULB 12V 15W P26 S

726457 3 FILLISTER-CURVED-WIDE HEAD 4-14
746483 4 FRONT BLINKER (CRISTAL)

755689 5 TAILLIGHT LENS WITH SCREW (CRISTAL)
754551 6 REAR ORANGE LENS

735426 7 FILLISTER-CURVED-WIDE HEAD 3-25
760469 8 TAILLIGHT ASSY

711431 9 WHITE BULB 12V-5/21W BAY 15D

756583 10 TAILLIGHT LENS

756587 11 REAR RED LENS

837013 12 FLANGE NUT M6X1,00

747566 13 RH. FRONT/LH. REAR BLINKER
747567 14 LH. FRONT/RH. REAR BLINKER
756460 15 ORANGE LENS

756461 16 GREY LENS

727984 17 FILLISTER-CURVED-WIDE M6X1,00-20
700778 18 WHITE BULB 12V-10W BA 15S
743184 19 REFLECTOR

738920 20 CLIPPED REFLECTOR

734847 21 HORN

705008 22 FLANGE SCREW M6X1,00-20
710374 23 LOCKNUT M6X1.00

736701 24 HOLDER BRACKET

745621 25 RIVET 4,8-13,9

760637 26 HOLDER BRACKET

726479 27 ROUND-HEAD SCREW SP4-10
737893 28 LICENCE-PLATE ILLUMINATION
726207 29 ROUND-HEAD SCREW M5X0,80-14
727923 30 ROUND-HEAD SCREW 5X0,80-35
853101 31 PLAIN WASHER 5-10-1

834007 32 LOCKNUT M5X0.80

736945 33 SPACER BUSCH 6,2X12-15

873123 34 GROMMET 11-8

738919 35 CLIPPED REFLECTOR

728541 36 SHEET METAL SCREW 4-30
753980 37 FILLISTER-CURVED-WIDE HEAD 3,4X12




